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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 000 ~ 7.43 94.91 | =hst | 000 ~ 000|170 8.69 ZznLst 1.00 | 5.00 ~ 9.80 94.91 | =nLS | 5,00 ~ 9.80 | 1.70 8.59
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 713 90.56 | =hst | 0oo ~ 000|161 8.14 znLst 1.00 | 5.00 ~ 9.70 90.56 | =N | 5,00 ~ 9.70 | 1.61 8.14
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 766 98.24 | =hst | 0oo ~ 766\ 1.98 9.99 znLst 1.00 1 6.00 ~ 1140 98.24 | #nS | 5,00 ~ 1140 1.98 9.99
4 100kN/M%#8%2 5| 1.00 | 0.00 ~ 0.61 109.02 |3mZE#BAB| — ~ — — — | 100kN/m%Z#Z25 | 1.00 | 11.53 ~ 1380 109.02 |3mZi#BZ3 - ~ — — —
ZznLst 1.00 | 0.61 ~ 839 100.00 | =nlsy | 0.00 ~ 839 | 2.00 10.09 znLs 1.00 1 6.00 ~ 1153 100.00 | =nRS | 6,00 ~ 1380 | 2.00 10.09
5 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.23| 11866 |3mEBZB| — ~ — — — | 100kN/m%#Z5 | 1.00 | 11.51 ~ 1700 11866 |3mZi#BZ3 -~ - — —
ZznLst 1.00 | 1.23 ~ 9.02 100.00 | =04y | 000 ~ 9.022.17 10.97 znLst 1.00 |1 6.00 ~ 1151 100.00 | =ns | 5,00 ~ 1700 2.17 10.97
g 100kN/m%Z#BZ5| 1.00 | 000 ~ 030| 104.48 |3mEBZB| — ~ — — — | 100kN/m%#Z25% | 1.00 | 11.57 ~ 1264 104.48 |3mZE#BZ3 -~ - - -
ZznLst 1.00 | 0.30 ~ 809 100.00 | =nklsy | 000 ~ 809 1.99 10.07 ZznLst 1.00 | 6.00 ~ 11.57 100.00 | =nRSY | 6,00 ~ 1264 1.99 10.07
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 627 65.75 | TS | 000 ~ 527]1.83 9.23 ZznLst 1.00 | 5.00 ~ 5.80 65.75 | EhS | .00 ~ 580 | 1.83 9.23
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
znLst 1.00 1 000 ~ 448 55.85 | Ths | 000 ~ 448 1.93 9.75 znLst 1.00 | 5.00 ~ 5.00 55.85 | =S | 5.00 ~ 500 1.93 9.75
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZhnList ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZhLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ 3mERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3mERZD ~
zhLst ~ st ~ zhLst ~ s ~
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